SET D Q. No. 34: 
SS7 signaling is termed Common Channel Signaling (CCS) as in that the path and facility used by the signaling is separate and distinct from the telecommunications channels that will ultimately carry the telephone conversation. 
SS7 is designed to operate in two modes: associated mode and quasi-associated mode. 
1. When operating in the associated mode, SS7 signaling progresses from the originating switch to the terminating switch, following the same path as the associated facilities that carries the telephone call.
2. When operating in the quasi-associated mode, SS7 signaling progresses from the originating switch to the terminating switch, following a path through a separate SS7 signaling network composed of signal transfer points.
Since the question does not mention about the mode of working for SS7, the answer could be either 61 voice channels (for associated mode) or 62 voice channels (for quasi-associated mode).
Ref: http://en.wikipedia.org/wiki/Signalling_System_No._7

SET D Q. No. 44: 

:

X.25 protocol suite and X.25 interface are two different, but related items. Unlike the codecs which can be either an implementation in hardware or software and TCP/IP protocol suite which is independent of hardware, the X.25 protocol suite is implemented as combination of software and hardware. Layer 3 and layer 2 of the X.25 protocol are implemented in software (Procedures) and whereas the layer 1 (Physical Layer) is implemented in hardware as interface for connecting the DCE and DTE. 

X.25 interface is analogous to the Network Interface Card (NIC) which is used as an Interface for Ethernet protocol suite (LAN Technologies, IEEE 802.3). The NIC Interface works at the physical layer of the OSI Reference model whereas the TCP/IP, TCP/UDP and IPX/SPX work above the physical layer at different layers of OSI Model.


The X.25 defines an interface between the DTE and DCE, whereas the X.25 Interface (as mentioned in the question paper) being a hardware implementation and being the physical link between DTE and DCE works only at the Layer 1 of the OSI Model i.e., the Physical Layer and only the X.25 protocol works in all the 3 layers.
Ref: http://en.wikipedia.org/wiki/X.25
SET D Q. No. 61: 

:

Gateway is used to connect networks with different communication protocols. Different communication architectures need not necessarily use different communication protocols and also the communication architectures are not the same as network topologies. As the question is about different communication architectures and not different communication protocols, the question can have two answers, either Router or Gateway. 

A gateway is an essential feature of the routers, although other devices (such as any PC or server) can function as a gateway. Hence to interconnect two sets of computers that use two different communication architectures both Router and Gateway can be used.

None of the standard documents available support the theory of Gateways being used to interconnect two different communication architectures. 
